What is a “Puzzie”?

The World Puzzle Championship consists of Puzzle types and their variations. The only restrictions to the
Puzzle types is that they should be culture neutral and should not require some extensive academic
knowledge to solve them. Within these restrictions a puzzle can be any challenge which leads to a unique
solution based on a set of rules. A large part of these puzzles are grid-based varieties which require
constraints to be satisfied within a grid.

The selection of puzzles for the WPC and general organization is at the discretion of the host country. The
organizers of WSPC 2017 will attempt to showcase variety within grid-based puzzle types and also explore
variety beyond the grid-based types within the simple constraints mentioned above.

General Composition of WPC

The Puzzles in this document are not an extensive list, but they cover some of the categories typically seen
in a WPC. Other than this, there may be other manipulations using linking, transference of properties,
hybrids, matchmaking, visual speed solving, mechanical solving, etc. to make the WPC an exciting
Championship full of variety designed to test the world’s best puzzle solvers.

There are typically 11-14 individual rounds and 3-4 team rounds across roughly 15 hours of solving. Each
round may range roughly from 20 minutes to 120 minutes, depending on the quantity and difficulty.
Individual puzzles are allotted points and typically a participant is awarded points for a puzzle completely
solved correctly without a single error. There are multiple puzzles in each round barring exceptions. All
puzzles are unique unless explicitly mentioned otherwise.

About this document

This document lists some basic variations puzzles. The specific Puzzles appeared in different episodes of
Puzzle Ramayan 2015-16 (See this link for details - http://logicmastersindia.com/PR/2015-16pr.asp) held
online at Logic Masters India site.

Puzzles in the booklet were written by the following Indian authors, in chronological order of the rounds:
Rohan Rao

Deb Mohanty

Amit Sowani

Rakesh Rai

Ashish Kumar

Swaroop Guggilam

Prasanna Seshadri ‘ ' ‘ '
Rajesh Kumar



Puzzle Booklet Page |1
Numberlink

Connect every pair of digits through horizontal/vertical paths such that no two paths
touch or cross each other.

6x6 <7
1 point 2 points
vV V V VA4 \'4
> 1 1
2 3 P 2 3

> 2 p 5
1 5 4 3

P 1

3> 3 2

8x8
3 points
A4 vV V
1
> 2
3
Pl 1 4 3 5
2 4 6
) g 5
6

Answer Key: Enter length of largest line segment in marked row/column. Enter ‘0’ if there
are no line segments along the marked direction.
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Puzzle Booklet

Numberlink

Page |2

Connect every pair of digits through horizontal/vertical paths such that no two paths

touch or cross each other.

10x10
5 points
vV V \'4
1 2
>
3 4
5
>
» 6
2 6
5 1

Answer Key: Enter length of largest line segment in marked row/column. Enter ‘0’ if there
are no line segments along the marked direction.

puzZZle Fasayan
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Puzzle Booklet Page |3

Star Battle
8x8
4 points

Place stars in the grid such
that every row, column and
thick-outlined region
contains two stars. Stars
cannot touch each other,
not even diagonally.

Star Battle
9x9
7 points

Place stars in the grid such
that every row, column and
thick-outlined region
contains two stars. Stars
cannot touch each other,
not even diagonally.

Answer Key: Enter column of left-most star of each row from top to bottom.

Classics




Puzzle Booklet

Star Battle
9X9
6 points

Place stars in the grid
such that every row,
column and thick-
outlined region
contains two stars.
Stars cannot touch
each other, not even
diagonally.

Star Battle
10X10
3 points

Place stars in the grid
such that every row,
column and thick-
outlined region
contains two stars.
Stars cannot touch
each other, not even
diagonally.

Answer Key: Enter column of left-most star of each row from top to bottom.

Page |4

Classics
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Fence

Draw a single closed loop that does not touch or cross itself. Digits in the grid indicate
the amount of line segments of that cell used by the loop.

6x6 7x7
1 point 3 points
vV VvV V vV VV
([ o (] ([ o (] ([ o (] (] (] [ [ [ o
3 3 3 1 1 1
» o o [ J o (] [ J ([ » o o o o (] o o o
3 1 1 1 3 (%] 3
o o [ J o o ([ J o o o o o o [ o [
2 1 1 1
b o o (] (] o ([ [ b o o o o (] [ ([ [
1 2 2 2 1 (%] 3
b ([ o ([ ] ([ o ([ ] ® (] o o o (] [ ([ L
1 3 1 1
® L ] L ® ® ® b (] (] (] (] (] [ o o
3 3 3 3 2 3 1 (%] 1
® L ] ® o ® ® (] (] (] (] (] [ [ o

8x8

3 2 2
e © o o o o o o o
3 2 3 2 2 2 2
© © o o o o o o o
1 2 2 2
© o o o o o o o o
2 2 2 2 2
bo ® o o o o o o o
3 1 2 2 2
© © o © o o o o o
1 2 2 1 3
}o ® © o o o o o o
2 1 3
© © o o o o o o o
1 3 2 3

Answer Key: Enter length of largest line segment in marked row/column. Enter ‘0’ if there
are no line segments along the marked direction.
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Fence

Draw a single closed loop that does not touch or cross itself. Digits in the grid indicate
the amount of line segments of that cell used by the loop.

10x10
6 points
vV V A4
® o o o o o o o o o o
b ® © o o o o o o o o o
2 0 1 1 2 2
e © o o o o o o o o o
2 1 1 3
e o o o o o o o o o o
1 1 2 1 1 2 1 1
® © o o o o o o o o o
3 3 1 1 3 3
® © o o o o o o o o o
2 2 1 1 2 2
b ® o o o o o o o o o o
2 2 1 1 2 2
e © o o o o o o o o o
3 3 1 1 3 3
b ® © o o o o o o o o o
2 2 1 1 2 2
® o o o o o o o o o o
1 1 2 1 1 2 1 1

Answer Key: Enter length of largest line segment in marked row/column. Enter ‘0’ if there
are no line segments along the marked direction.
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Hitori

Shade cells such that digits do not repeat in rows and columns. Shaded cells cannot be
adjacent to each other and all unshaded cells must be orthogonally connected.

6x6 <7
3 points 5 points
VVV VVV
2 6 5/4 6 2,35 6 4|3
5 42516 5,7 61 2 23
6/3 5 1|2 4 512142 7 4
311/5/4 4 3 12 4|35 7 4
1/2/6 3 5|4 413 2|31 6 7
4123|615 /714,621 5|5
3/1/4 5|6 1 2
8x8
6 points
vV V V
47 5|58 2 3|1
683 427 8|1
/766 2 4/3|4]|5
627,112 6 4
54 3|3 58|27
12 2/ 6|7 554
3. 3/4/6/5/7|1|2
211 5/5/3/2/4/|3

Answer Key: Enter the length of continuous areas of shaded and unshaded cells in the
marked rows/columns.
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Hitori
10x10
7 points

Shade cells such that digits
do not repeat in rows and
columns. Shaded cells
cannot be adjacent to each
other and all unshaded
cells must be orthogonally
connected.

Hitori Blocks
[Exploratory]
10x10
12 points

Shade blocks of size 2x1
such that digits do not
repeat in rows and
columns. Shaded blocks
cannot be adjacent to each
other and all unshaded
cells must be orthogonally
connected.

Page |8
v V A 4
9/8 6|72/ 6 39|41
412 82 5 7/3|/3/9/9
6 6 3 2/1/1|7 /8 8|5
4.6 9 81477 23
/7548|3661 1|2
3341 55|99 78
231 4 4 8|85 6|7
293 3 77|56 6 4
5/2/2/6/6 34 4|8|9
11/5 5/8/ 9 9|2 3|7
v V A4
5/2/3/5/2/1/3 6|39
2/ 6/1 6 4 3 8 5|71
1 5/7 724 4|9 6|8
4 152 6|2 2|1 8|2
6 911|743/ 8 2|9
3/4/6/ 21 7|5/ 6|22
3/19/2 33, 6/ 5/ 4/1)2
9 3 4 2/8/6|/7/1 58
13 8 7 9 2|6|5 43
8914|8162 37

Answer Key: Enter the length of continuous areas of shaded and unshaded cells in the

marked rows/columns.

Classics
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Four Winds

Draw one or more horizontal or vertical lines from each nhumbered clue so that all blank
cells are connected to exactly one of the numbers. Lines cannot enter other numbered
squares or intersect with other lines. Each number represents the total number of blank
cells occupied by the lines from that number.

6x6 7x7
2 points 3 points

V VV LA A4

> 2 4 4
3 4 4
5 1 > 1
) o 5 4 1 2
Pl 5 )og 2
3 Pl 4 4
2 5
8x8
5 points

Pl 4 6
Pl 3 3

Answer Key: Enter length of largest line segment in marked row/column. Enter ‘0’ if there
are no line segments along the marked direction.
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Four Winds \°4 vV V

10x10
5 points 3 1 1

Draw one or more
horizontal or vertical lines » 1 1 1 1
from each numbered clue
so that all blank cells are
connected to exactly one of 3 2 1 1 1
the numbers. Lines cannot
enter other numbered 2 1 2 1
squares or intersect with
other lines. Each number 3 1 1 1 4
represents the total number
of blank cells occupied by 1 1 2 2

the lines from that number.
Pl 1 1 1 3

Walls YV V.V

[Exploratory] 3 3 1
8x8

6 points » 2 2
i

Place a horizontal or a
vertical line in every blank 3 7 4
cell. A number indicates the
total length of the segments
connected to that square. 3 3 1

»> 2 3

1 5 2

Answer Key: Enter length of largest line segment in marked row/column. Enter ‘0’ if there
are no line segments along the marked direction.

puZZle Fasayan Classics



Page 1 Numbers - Episode 2

Kakuro

> Fill in the white cells in the grid with digits from 1 to 9.

» The sum of digits in each horizontal / vertical group of cells is given on its left/top.
> Digits do not repeat within any set of consecutive white cells.

Ignore the circles while solving. They are used for answer key purposes only.

Answer key: Some columns have one circled cell. Enter the symbols in the circles from left to right.

puzzle Fasayan



Page 2 Numbers - Episode 2

Kakuro

> See previous page for rules.
Answer key: Some columns have one circled cell. Enter the symbols in the circles from left to right.

Kakuro — 3 ( 4 points)

19 24 }

vV | v vV | v

»
11 28 3
¥
208 o
12 }V

26
14
)

15

22
. 4 b 4
> B
13 10
N\ >
29
N\

./

24
6
b 4
N
N

4 (5 points)

lﬂllﬂﬂllﬂu

D 4 v | VvV |

10
14 21 }

v
B
. 4

puzzle Famayan
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Numbers - Episode 2

Magic Snail

> Fill in the snalil like grid such that each row and column has some re-arrangement of all the letters of the given

key.
> Some cells will remain blank.

» While reading the letters from outside towards the center, the order of the letters is to be same as the key. [E.g.

in the example it should read as A-B-C-A-B-C...]

Ignore the circles while solving; they are used for answer key purposes.

Answer key: Some columns have one circled cell. Enter the symbols in the circles from left to right.

Magic Snail -1 ( 2 points )

Magic Snail - 2 ( 5 points)

A

@,

O

O

B

O

C

B

Magic Snail - 3 ( 3 points)

AlC
OO0 00O

ABC ) 2

» | O B

O c O

(| A

Fasayan

B|lA
OO0O0O0O0O




Page 4 Numbers - Episode 2

Kropki

> Fill in the grid with digits 1 — N where N is the size of the grid so that each row and column contains each digit
exactly once.

> If two consecutive digits appear in two neighboring cells, they are separated by white dot.

> If digit in a cell is half of digit in the neighboring cell, then they are marked by black dot.

» The dot between 1 and 2 can either be white or be black.

Answer key: Enter the digits in the marked rows.

Kropki-1 (1 points ) Kropki— 2 ( 4 points )
LS DL

—0—1T—O—10O o O
[ @

—O—1@ O O @
O O O O O—1—0—
O—1-O0O—10 O o

Q
Q

> 7 >

Kropki -3 ( 7 points ) Kropki -4 ( 3 points )
o
—O—1O @
3 ® O ©
O—TCO1@ O
O O
—0—CO O
O ® O

A4
A 4

puzzle Fasayan
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Numbers - Episode 2

Skyscrapers

> Fill in the grid with digits 1 — N where N is the size of the grid so that each row and column contains each digit

exactly once.

» Each number inside the grid represents the height of a building.
> The clues outside of the grid indicate how many buildings can be seen when looking from that direction.

» Taller buildings block the view of smaller buildings.

Ignore the circles while solving. They are used for answer key purposes only.

Answer key: Some columns have one circled cell. Enter the symbols in the circles from left to right.

Skyscrapers — 1 ( 2 points )

4

4 O

O

O

O OO

Skyscrapers — 3 ( 6 points )

OE

31

3 3

O OO

N B B B WN

Skyscrapers — 2 ( 6 points )

3 4 5

O O
O

H W N B

O
O
7 3 3

OO000

Skyscrapers — 4 ( 7 points )

2 6 2 3 2 3

N B N D

O
QO[O

O

H T NN DN W

2 6 3 4 2 3

O 00000
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Page 6 Numbers - Episode 2

Easy As ABC [ Numbers]

> Fill in the grid with letters from the given range so that each row and column contains each letter exactly once.

» Each row and column contains one blank cell.

> The clues outside the grid in the form Xy, indicate that X is the N letter seen in that row or column, in the
corresponding direction.

Ignore the circles while solving. They are used for answer key purposes only.

Answer key: Some columns have one circled cell. Enter the symbols in the circles from left to right. Enter X for blank cells

Easy As ABC -1 ( 2 points) Easy As ABC - 2 ( 4 points)
ARID ARIE
A> B> Co Co B2 Do
A1 B1 Dz@ QQQ
A1
B:
B1
C
C1 QQ A1 2 D,
B1 B,
z = Ca A>
! ! D> A2 A2 B2 E2 C2
QO olNelele
Easy As ABC - 3 ( 3 points) Easy As ABC - 4 ( 7 points)
ARIF
ARID As Bz C3 C3 Bz D3 Ds
As Ds Q Es
B3Q QA3
OO |
Ba
Ca
Cs Fs Q As
Ba Ds Aa Es Q Ds

QQQ D: As As Bs Es Cs Fs
OO OO0

puzzle Fasayan
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Numbers - Episode 2

KropKuro

12 points

> Apply Kakuro rules.
> If two consecutive digits appear in two

neighboring cells, they are separated by
white dot.

> If digit in a cell is half of digit in the
neighboring cell, then they are marked by
black dot.

» The dot between 1 and 2 can either be
white or be black.

Ignore the circles while solving. They are
used for answer key purposes only.

Answer key: Some columns have one circled
cell. Enter the symbols in the circles from left to
right.

ABC Skyscrapers

> Fill in the grid with letters A, B, C and digits 1, 2, 3 so A C B A A C

that each row and column contains different symbols.

(The first example uses A, B, 1, 2)

» Each number inside the grid represents the height of

a building.

» The number clues outside of the grid indicate how
many buildings can be seen when looking from that

direction.

> Taller buildings block the view of smaller buildings,

but letters do not affect visibility.

> Letters outside the grid indicate the first seen letters

from the corresponding direction.

Ignore the circles while solving. They are used for

answer key purposes only.

W N R W N R

Answer key: Some columns have one circled cell. Enter the 2 2 1 3 2 1

symbols in the circles from left to right.

OOO00O0

- End of Test -

puzzle Fasayan



Page 1 Evergreens - Episode 3

Hashi 3+4+5+7 points

» Connect each of the numbered islands in the grid via horizontal and vertical bridges.

> Bridges are not allowed to cross each other.

» Each numbered island has that many bridges leading away from it, and at most two bridges are allowed to
connect a pair of islands.

» There must be a sequence of bridges that links one given island to any other.

Answer key: Enter contents of marked row/column (use 0 for no bridge, 1 for 1 bridge and 2 for 2 bridges)

Hashi 1 (3 points ) y Pt
@200 0O
@ & w @
@ 6 0o
@@ @ @
@@ 6 6@
@0 o o
Lo 66w

@@@@g)@
ONORORONCONE)
PO 2 2@ 3 @ @
L 266w
ONONORORONE)
@000

Hashi - 3 ( 5 points ) Hashi -4 ( 7 points )

D@ @60
200000 py sao o

L 3 @ 2 @ @ @ 5 ® 3) @

@ © N ECRORORORORS
3 6 @ 5 @ 2 3 @ ® 3) 3

2 (® 6 2 @ @ @ D Q) @ 3)
Y@w @O0 praeoe e
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Page 2 Evergreens — Episode 3

Magnets 2 + 3 points

> The grid is made up of magnetic and non-magnetic plates.

» Each magnetic plate has 2 halves: one positive (+) and one negative (-).

» Halves with the same polarity cannot touch each other vertically or horizontally.

» The digits outside the grid indicate the number of magnetic halves with a particular polarity in each row/column.

Answer key: Enter the contents of marked rows/columns (use + for positive plate - for negative plate and X for non-magnetic
plate)

>

Magnets - 1

(2 points ) b

+ | RNV WR|R
NRININM(N| R

Magnets — 2

( 3 points)

+F W WiIR WINMNINMN|IDMDN
WIN|IDIOIN DN W

w
N
w
w
N
N
w
N
=Y

puzzle Fasayan



Page 3 Evergreens — Episode 3

Magnets 8 + 9 points

Refer to previous page for instructions

Answer key: Enter the contents of marked rows/columns (use + for positive plate - for negative plate and X for non-magnetic
plate)

v

312
313
4| 4
Magnets - 3 414
( 8 points ) 3|3
4|4
413
214
) : 2 2|3
3|2

214124124 |3|4|4|+
3124|2324 414

v

4
2
Magnets - 4 3
(9 points) 4
2
3
3
2
3
3

+F | PPN W WIADNWINIW W




Page 4 Evergreens — Episode 3

Arrows 3+3+5+6 points

> Draw arrows in the cells around the large grid, one arrow per cell.

» Each arrow points to at least one number.

» The numbers show the total number of arrows pointing towards them.

Answer key: Enter the number of horizontal arrows, followed by the number of vertical arrows

Arrows — 1 ( 3 points) Arrows - 2 ( 3 points )

NN ®N
Wik w|h
Nlw w| D

w b WN

Mlwi b Ul
Vilw| N v |w

Arrows — 3 ( 5 points ) Arrows — 4 ( 6 points )

Wl WiIN Wl w
I
W
N
AlwWw w wlpb
Ul
w
N

puzzle Fasayan



Page 5 Evergreens — Episode 3

Anglers 2+2+2+5 points

The grid represents a lake and the numbers on the periphery represent anglers (fishermen).

The fishes shown in the lake are such that every angler gets exactly one fish.

The numbers indicate the length of the fishlines which are composed of horizontal and vertical line segments.
Draw the fishlines starting from grid border such that no two of them cross or overlap each other.

YV VYV

Answer key: Enter the number of turns in marked rows/columns.
Anglers - 1 ( 2 points) Anglers — 2 ( 2 points )
9 10 5

> FY
21 9|9« |4« » 21

3 5 4 7

Anglers - 3 ( 2 points) Anglers — 4 ( 5 points)

v 4 9
14 10 5 7 10 18 - 3

ks

&
&

L3k
JL3L:
¢




Page 6 Evergreens — Episode 3

Multi-Anglers 6 points

> Apply rules of Anglers.
» However, multiple anglers can get the same fish.
» Each fish is captured by at least one angler

Answer key: Enter the number of turns in marked rows/columns.

v v

5 7 4 10

&

16 &<

10 11

6 12 12 7

puzzle Fasayan



Page 7 Evergreens — Episode 3

Dominos 3 + 3 + 8 points

» The grid contains a set of dominos, using all combinations of zero through N.
» The layout is shown with domino edges removed.
» Reconstruct the missing edges.

Answer key: Enter the contents of marked rows/columns (use H for horizontal domino and V for vertical domino)

Dominos — 1 ( 3 points)

@ o1 1|2 3]
o 1|1 2|2 4
2|11 3|3 3]
o 3|11 4|3 4
0 4|12 2|4 4

\A4

R N P NMNDN

O R R OO

wwh R e

AN D RN

A w b onwNn

AW wo w
]

Dominos — 1 ( 3 points )

36 6 1 0
© 611 3

N

0 o1 1|2 3|[3 6]
o 1|1 2|12 4| |4 4
@ 2/]1 3/12 5|4 5
3/ |1 4|2 6] |4 6]
@ 4|1 5/3 3|[5 5
@ 5/11 6|3 4/[5 6
@ 6/ 2 2|13 5/|6 6

O R Ul U1 W W NNR

A NN PEFPNM PPV NO PN

uu . OON OO ® B

Ul U1 O W W OV W W N
(]

Dominos - 3 ( 8 points )

o o1 1|2 3|3 6
0 1|1 2|2 4]|4 4
o 2|1 3|2 5/|4 5]
0 3|1 4|2 6||4 6
@ 4|1 5/|3 3||5 5]
@ 5/|1 6/|3 4|5 6
@ 6/|2 2|3 5|6 6

AN PR PR R

N NN LT OY O
O W h Ut L1 BTN
P AN DNMNODN

Ul O W WwRr wo o
U N DN O D WD
w o MO OOO®
W o R KB U v o Rk

3
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Page 8 Evergreens — Episode 3
Dominos 6 points
» The grid contains a set of dominos, using all combinations of zero through N.
» The layout is shown with domino edges removed.
» Reconstruct the missing edges.
Answer key: Enter the contents of marked rows/columns (use H for horizontal domino and V for vertical domino)
Dominos — 4 ( 6 points )
© 14 3 2 06 6 5 712 47 1 3
@ o/[1 2][2 5[4 4][6 7
1 1 6 1 8 © 6 7 6 6 @ 2/[1 42 7][4 6][7 7]
@ 3/[1 512 8][4 7][7 8§
5 7 6 8 3 312 27 @ 4/[1 6/[3 3][4 8/[8 8§
4 3 6 0 3 3115 7 e 5|1 73 45 5
0 6/[1 83 5[5 6
4 6 6 2 3 5 8 8 3 7 e 712 213 6[5 7
45 5 2 7 5 0 8 6 8| @823B7b s
1 1/[2 43 8|6 6
© 6 8 254 212 3 755 8 8
Missing Dominos 5 points

> Apply rules of Dominos.

> A few dominos from the set will be missing in the grid. It is part of the solving process to identify the missing
dominos and recreate the rest within the grid.

Answer key: Enter the contents of marked rows/columns (use H for horizontal domino and V for vertical domino)

puzzle Fasayan

9 0 4

© 0/|1 12 3|3 #
4 3 3 5 4 4 4

o 111 2|2 4|4 4
2 2901 3 3 1

o 2|1 3/|2 5|4 5
2 26 56 11

@ 3/|1 4 |2 6/|4 6
@ 0 6 6 5 2 1

@ 4/]1 5|3 3/|5 5
3405 3 5 6

© 5/ |1 6/|3 4|5 6
6 6 1 6 5 5 0

@ 6/2 2/|3 5|6 6
1 3 4 4 2 1 0

End of Test



Page 1

Yin Yang

Regions - Episode 4

1+2+4+7points

» Divide the grid into two regions of black and white by placing either a black or a white circle in each empty cell.
> All circles of same color are connected to each other, vertically or horizontally.
> No 2X2 group of cells can contain circles of a single color.

Answer Key: For each marked row/column, enter the length of continuous white and black circle blocks - from left to right / top

to bottom.

Yin Yang - 1 (1 point)

\'4

O

\'4

Yin Yang - 2 (2 points)

o
O
O

®
O
O

[
OO0 @

O

Yin Yang - 3 (4 points)

\'4

\"4

Yin Yang - 4 (7 points)

O

O

O
O
\ A

O
O

O
O

[
@ OO0 00
O e e @

@ OO0 00 |«

O e e @
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Regions — Episode 4

Page 2

2+4+6+10 points

Spiral Galaxies

> Divide the grid into 180 degree symmetrical regions along the gridlines, so that each cell is part of only one

region.
> Each region must contain exactly one circle, which represents the central symmetry point of the region. All

circles are given.
> All cells must be part of a region.

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to

bottom.

A . I
...... A s B S R S S
S S S S A Y
oy e L SRR U MU SRS U MU S S,
™ IS SV SRS S S S S S w | | | _ | | | | |
2 AN R R = @ &
3 (@ R e e e e A e
e | s Sy P @i o P P o e
P e = e
N2 e T s S s S M R
T owml ol e < o e e
@ " " @ : : ” - @ -ho--o- AR 4m-moe- momos boo-os oo--- 4@ Fooe-
L S S S Q A Y A
-t : Y : '@ ! x " " " " " : " " "
- i Py i i i i ! A ".-‘.ﬂ...-.." ...... T . T T
||||||||||||||||||||||||||||||||||||||||| a ] ] ] ] ] ] ]
O A a e e @
© S A R = w7 S St o S St S S e A
- e R B g A
a e s R
Z e * o S S S R B o
m “ “ “ “ “ “ '@
—_— R BN SRRt SR Rl S SRR
o e A N 2
m B S e R S SEE N . oo SOTEET TR R e PR S
) ' ' L 1 1 ' ' ' ' '
£ ® @ | I I e £ v A .
s Zl AR N SR N S W 5 P NN NS S T TN N dH
a e e e A R
- IS S SO S o | LS U SN A S W S A
. A ; A
" A & » S
o U N AU SN SN R o |l LR R SO S SR S S S
X A X U
S : P : S ® @ . . e i
g |- R SO NN SR S S s |- LS SN N AU S SN N
E 9@ e | E IS VO VO O N
=3 . a A
2 I & 7 o e e
— 1 | LR S S AN S WA S A—
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Page 3 Regions - Episode 4
Fillomino 2+2+5+5 points
» Divide the grid into different regions along the gridlines.

» No two regions of the same size (number of cells in the region) can touch each other by a side.

> Numbers in the grid indicate that the cell is part of a region of that size (number of cells in the region).

> A region can contain more than one given number.

» There can be regions without any given numbers also.

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to

bottom.
Fillomino - 1 (2 points) Fillomino - 2 (2 points)
v v __
: : : ;14§
8 2:1:4 3:7:
6:4: 3 P8 |
pl 7 6 5 1.5
b9 }
5 8
6 14
Fillomino - 3 (5 points) Fillomino - 4 (5 points)
vV Vv v A4
— 8.7 5753 |
N T SRR SN S W SN NS W S S S
------------------------------------------------------- 1 ; 7
7:2 | 6 206 B S S S S Y
----- 7 | 11
5 P 4 e B S SRS S
--------------------------------------------------------- 5 | 6
'3 5 T B S e e B e
_________________________________________________________ 3 | | | 7
5 P20 20 041 | b A st S e
------------------------------------------------------- 7 ; 1
6.2 1, i1 2.5 P e S S R R
------------------------------------------------------- 6 ; ; 4
» 1 et St ST S St ST SO S
7347117

puzzle Fasayan




Page 4 Regions - Episode 4

Area Division 1+1+4+8points

> Divide the grid into several regions along the gridlines.
» Each region has ALL the letters of the given range exactly once.
> Each letter must be part of exactly one region.

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to
bottom.

Area Division - 1 (1 point) Area Division - 2 (1 point)
v A4
CiAiC B:iC CIA'ABIAA
c.bbiac:b c. B Bicicic
B:B:D:B:A:B A'B:B:A:C:B
P|A B ACAB P{A B CAAB
D/ DiB:B:DiA B/ C CB/B:C
DIAICICiDIC BIAICAAIC
(Range: ABCD) (Range: ABC)
Area Division — 3 (4 points) Area Division - 4 (8 points)

<
i

E'F GEF EETFF F G EEIGHF FIH G
F GF F GF GF G HHEF GHFHHE
PIF EGGEE G EE G F F HETEHEGF
G F E G F EEGE PlH GHF GGF F GG
FIGEGF GFF F EF'HGEMHEHTF FH
EGEFEGEGG G EEGHEFEGE
G G E F F E EIGE DIF HF GGEHFHH
EGF G F GFE F EHF GHGGTF FEG
EF GEEFF GG EF GHEFEHEF
Range: EFG) G F EEHGF GF H

(Range: EFGH)
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Page 5

Shikaku

Regions — Episode 4

1+1+ 3+ 10 points

> Divide the grid into a number of non-overlapping rectangles, including squares, along the grid lines.
> Numbers in the grid indicate the size (number of cells) of the rectangle they are in.
» Each rectangle must contain exactly one given number.

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to

bottom.
Shikaku - 1 (1 point) Shikaku -2 (1 point)
v —

6 2 i2
4 2 120§ 42
"""""""" 5. 3 O -8 T O

»42 4 __________________
2 s ] AN 2L |
4 2 2 Plo4 2
R e i s Y c 3

Shikaku - 3 (3 points) Shikaku - 4 (10 points)
v LA 4
4 2 L1 N L U 8 T O

S A A 6. o8 i

"""" a2 e 2

4. 2.2, 2 4l |- . O £

RN 6 APl 4
-3 T O 0 S O O

)3 a4 e

"""" 3 R N T O O O O e S

"""""""" 30 20 20 || eliBi b ieh
7 6




Page 6

No-Rectangles Fillomino

» Apply rules of Fillomino.

> However, none of the regions can form a rectangle.

Regions - Episode 4

7 points

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to

bottom.

No-Rectangles Fillomino (7 points)

.v ] .v.

---------------------------------------------------------------

a s 3.7 717
3 (5 | 7

---------------------------------------------------------------
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Regions - Episode 4

Page 7

14 points

Spiral Galaxies 4/5

> Divide the grid into several regions along the gridlines such that each region has exactly 4 or 5 cells.

» Each region must be 180 degree symmetrical.

If a region contains a black circle, then it is the point of symmetry.

> Regions may not be 2x2 squares.

>

Answer Key: For each marked row/column, write the number of cells that belong to different regions from left to right / top to

bottom. Ignore the black cells for the answer key.

Spiral Galaxies 4/5 (14 points)

I T,

i N [

F----"r-----71-----Aa------

End of Test
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Page 1 Snakes - Episode 5§

Snake 1+ 2 + 3 points

> Locate a snake (a 1 cell-wide single continuous path) in the grid whose head and tail are given.
» The snake does not touch itself, even diagonally.
» Numbers outside the grid indicate the number of snake cells in that row/column.

Answer key:

V2V V3V 3
®

W W w w w
®

AW 2 4 32V 3

puzzle Fasayan



Page 2 Snakes - Episode 5§

Snake 7 points

Refer to previous page for rules.

3 2wW3wl 7 1

Horse Snake 2 + 5 points

Apply Standard Snake rules.

The numbers inside the grid indicate the number of snake parts in the knight step from the clue indicated.
The clue “?” can be replaced by a number greater than zero.

The cells with cross cannot be a part of the snake

YVVVYV

Answer key:

vV V Y \>4




Page 3 Snakes - Episode 5§

Horse Snake 6 + 10 points

Refer to previous page for rules.

2
? 5
X
0 3 O
Y
X 2 2 X
P>
6 X
1 2
1 O
5 4
) g 1
O 0
3 5
X 7
X 1 0 X




Page 4 Snakes - Episode 5§

Summed Snake 3 +4 + 6 points
> Locate a snake (a 1 cell-wide single continuous path) in the grid whose head and tail are given.
» The snake does not touch itself, even diagonally.
» Numbers starting 1 are put along the path of the snake.
> Numbers outside the grid indicate the sum of all the snake parts in particular row and column.
Answer key:
42 v v 47 35 37 19 125 64 112
18
1 28

10 q »> 1

18 )og

29

144

22 46 63 V

54

) <

26

41

puzzle Fasayan



Page 5 Snakes - Episode 5§

Summed Snake 5 points

Refer to previous page for rules.
156 114

10

20

30

39 39

Toroidal Snake 4 + 3 points

> Apply Standard Snake rules.
» Additionally, the grid wraps around itself. So the snake can go from one edge to another.

Answer key:

1 3 6 5 1 2 5 2 3V

NVNwwVw
®
®
WV
UUUUUUVU‘IUUI—\

puzzle Fasayan



Page 6 Snakes - Episode 5

Toroidal Snake 6 + 10 points

Refer to previous page for rules.

517 1 3 5 3 2

mVuu -bVNH

9532 WV 6471

O 00 = p

U'ICDNV\I

puzzle Fasayan



Page 7 Snakes - Episode 5§

Graffiti Snake 2+ 1+ 2points
> Paint some cells black to create walls.
> Numbers outside the grid indicate the lengths of blackened cell blocks in the corresponding directions, in order.
» If there is more than one blackened block in a row or column, there must be at least one white cell between the

blocks.
> After all black cells are determined; a snake should travel through all the unoccupied cells, moving horizontally

or vertically without touching itself, even diagonally.
» The head and the tail of the snake are given in circles.
» The clue “?” can be replaced by a number greater than zero.
Answer key:

1 2 1 ?
. AR A 3 1 VV o
11 ® o
| 2
1 ® ®

RN R
K
w N
NR R
<
RN R

24

21

111

puzzle Fasayan



Page 8 Snakes - Episode 5§

Graffiti Snake 6 points

PR RpR

<
<

16

141 ® 1

321 ()

213

False Graffiti 3 points

> Apply Graffiti Snake rules, except that all clues outside the grid are false.
» They are either 1 less or 1 more than the actual clues
> Note that 1 can become 0 too.

Answer key:

40| @

22

102 o

puzzle Fasayan



Page 9 Snakes - Episode 5§

Multiple Snakes 9 points

» Apply standard Snake rules; however multiple snakes are there in the grid.
» Head and tail of all snakes are given.
> Different snakes cannot touch each other, even diagonally.

v \4
6 843625926211

Answer key:

8
5
6 O O
4
8 O O
2
2
6 O O
2
6 O O
)
10
End of Test
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Page 1 Shading - Episode 6

Paint By Number 1 + 2 points

Shade some of the cells to find out the hidden figure.

The numbers outside the grid indicate the sizes of consecutive shaded blocks in that row/column.
Numbers are given in the order the blocks appear, first number describes the closest block.
There must be at least one white cell between any consecutive shaded blocks.

YV VYV

Answer key: Enter the lengths of groups of shaded cells and white cells, for the marked rows/columns.

=
R R R R

212

puzzle Fasayan



Page 2 Shading - Episode 6

Paint By Number 2 + 6 points

Refer to previous page for rules and answer keys.

N
=
=
N
N
=
N

PR R NR R
w

NRRRPR
P WR R
W wR R
W wpR R

puzzle Fasayan



Page 3 Shading - Episode 6

Heyawacky 2+ 3+ 4 points
» Shade some of the cells so that the numbers in region indicates the number of shaded cells in that region.

» Shaded cells cannot be orthogonally adjacent.

» The remaining white area must be connected to each other, horizontally or vertically.

» The white area cannot span across 2 consecutive borders (thick lines).

Answer key: Enter the lengths of groups of shaded cells and white cells, for the marked rows/columns.

Yv

> 2
> 3
)4
\'4
Pl 4 5
1 1
3 <
3
3
3

puzzle Fasayan



Page 4 Shading - Episode 6

Heyawacky 10 points

Refer to previous page for rules and answer keys.

Windows 1 + 2 points

For each of the marked 2X2 areas (the Windows), shade exactly 2 of the cells.

No 2X2 area can contain all shaded cells or all white cells.

All shaded cells must be connected to each other, vertically or horizontally.

There cannot be an island with white cells i.e. the shaded cells must not enclose any white areas.

YV VYV

Answer key: Enter the lengths of groups of shaded cells and white cells, for the marked rows/columns.

\ 4 [




Page 5 Shading - Episode 6

Windows 6 + 11 points

Refer to previous page for rules and answer keys.

>

VVV¥




Page 6 Shading - Episode 6

Lakes 1+ 4 + 5 points

> Shade some of the cells so that the grid is divided into white areas.

» Each white area must contain exactly one number and that number must be the size of the white area it is
included in.

> Cells with numbers cannot be shaded.

Answer key: Enter the lengths of groups of shaded cells and white cells, for the marked rows/columns.

\>4
\: A4 2 6

4 ) 2 B

2 - a 5 2

11 1 9

puzzle Fasayan



Page 7 Shading - Episode 6

Lakes 6 points

Refer to previous page for rules and answer keys.

\ 4

2 4 2
2
4 2 2
Pl 2 6 2
2 3
2 2 4
2 2
2 2
)i 3 4 3
4 2 3
4
1 4 2
Crazy Pavement 1 + 2 points

» Shade all cells of some regions.
> Numbers outside the grid indicate the number of shaded cells in that row/column.

Answer key: Enter the lengths of groups of shaded cells and white cells, for the marked rows/columns.

\4 2 %) 1 6
4 3 3




Page 8 Shading - Episode 6

Crazy Pavement 4 + 9 points

Refer to previous page for rules and answer keys.

A A DDA DDA DD DS D

puzzle Fasayan



Page 9 Shading - Episode 6

Heyawacky Variation 9 points
1
E
X
2 1 A 1

M
P
L

%) E 0
S

2 1 2 1

puzzle Fasayan



Page 10 Shading - Episode 6

Crazy Pavement Variation 9 points
5 3 E
X
3 A
M
P
L
3 E
\4
8 9 9 8 11
7
>6
End of Test
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Page 1 Loops - Episode 7

Simple Loop 1 + 2 points

> Draw a single closed loop passing through every cell in the grid horizontally and vertically, except the given
black cells.

» The loop can't cross or touch itself.

Answer key: Enter lengths of largest loop segment in marked row/column.

\'A 4

>

puzzle Fasayan



Page 2 Loops - Episode 7

Simple Loop 2 + 3 points

Refer to previous page for rules and answer keys.

vV V \'4

puzzle Fasayan



Page 3 Loops - Episode 7

Maxi Loop 1+ 5+ 7 points

> Draw a single closed loop passing through every cell in the grid horizontally and vertically.

> The loop can't cross or touch itself.

» The numbers in the boldly marked regions indicate the highest amount of cells that the loop goes through
consecutively (i.e. without exiting to another region) in that area.

Answer key: Enter lengths of largest loop segment in marked row/column.

vV v
A\ 4 A4

ASREREER SMEaeH

>
} 3 4

vv \'4

puzzle Fasayan



Page 4

Maxi Loop

Refer to previous page for rules and answer keys.

Masyu

A4

Vv

5 1 4
1 2
2
4
4 4
3
2
1
2

Loops - Episode 7

16 points

2 + 1 points

» Draw a single closed loop, which connects centers of some (not necessarily all) cells horizontally and vertically.
» The loop can't cross or touch itself.
> The loop turns in every black circle and goes straight through both adjacent squares.
» The loop goes straight through every white circle and turns in at least one of both adjacent squares.

Answer key: Enter lengths of largest loop segment in marked row/column.

v

vv

O

O

O®

O
® | @0

©

v

\'A

>




Page 5 Loops - Episode 7

Masyu 3 + 4 points

Refer to previous page for rules and answer keys.

Ol
@)

o
O
O
o
o

®
O
O
O
®
A

A 4

A4

QO
O
OO
OO

A4
Q0O
OO

OO
OO
O®
OO
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Page 6 Loops - Episode 7

Railroad Tracks 2+ 4+ 5 points

> Draw a single closed loop passing through every cell in the grid horizontally and vertically.

» The loop can't touch itself and must cross itself only in cells with a given ‘+'.

» The loop must pass straight through numbered cells, and must travel in order from 1 to 2 and so on till N
(where N is the highest number given) and then back to 1.

Answer key: Enter lengths of largest loop segment in marked row/column.

A4 A4

vV V \>4 >

3| |5 :
2 6
»
\ 4 vV V
1 2
13
) 12 11|12 3
10 9
»
. <
6 7
>
8 5




Page 7 Loops - Episode 7

Railroad Tracks 7 points

Refer to previous page for rules and answer keys.

\A 4

10 6

12

VYVV¥

Linesweeper 2 + 3 points

Draw a single closed loop, which connects centers of some (not necessarily all) cells horizontally and vertically.
The loop can't cross or touch itself.

Numbers in the grid show the number of cells used by the loop in the surrounding 8-cell area.

The loop cannot pass through cells with numbers.

YV VY

Answer key: Enter lengths of largest loop segment in marked row/column.

A4 \’A >

3 2

6 5
ﬂ 2

; . P »
>

\'4
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Page 8 Loops - Episode 7

Linesweeper 2 + 5 points

Refer to previous page for rules and answer keys.

»
4 4
5|2 213
) g 4
3|5
4
213 2|4
) og 1 4
>
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Page 9 Loops - Episode 7

Masyu Variation 9 points

@ O
@
Mro=Es>XMm
®
©

®

O &

Answer key: Enter lengths of largest loop segment in marked row/column.

v V V
@

» | @

©)
®
©

puzzle Fasayan



Page 10 Loops - Episode 7

Linesweeper Variation 14 points

1 5 E 1 — 5
X

2| |86 A 2 | LLgte
M
P

3 8 L 3 —8

E l

Answer key: Enter lengths of largest loop segment in marked row/column.

\ 4 vV V
4

6

6 4
6
4

6|4 8|6

VVV

End of Test
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Page 1 Object Placement — Episode 8

Minesweeper 1+1+6+3points

> Place mines into some empty cells in the grid such that the numbers in the grid represent the number of mines
in the 8 neighboring cells, including diagonal ones.

» In some of the puzzles, number of mines to be used will be given.

Answer key: Enter the number of mines for each row, from top to bottom.

4 3
3|5 4
3 2 1
21212 2
27 mines
3 2
2 3 4
3 4| 2 4
4 3
3 413 3 1

5 2
2|3 3 5 3
1 5 3|4 2
3 4 3
4 3|4 2
3 3 2
2 2

puzzle Fasayan



Page 2 Object Placement — Episode 8

Akari 1+ 1+ 3 points

> Place lightbulbs in some of the white cells so that all white cells are illuminated.

» Lightbulbs illuminate all cells they can see horizontally and vertically, including the cell in which it is placed.
> Lightbulbs are blocked by black cells or the edge of the grid.

> No two lightbulbs may illuminate each other.

> Numbers in black cells indicate how many orthogonally adjacent cells contain a lightbulb.

Answer key: Enter the number of light bulbs for each row, from top to bottom.

4

puzzle Fasayan



Page 3 Object Placement — Episode 8

Akari 5 points

Refer to previous page for rules and answer keys.

H |

Tents 1 + 3 points
> Place one tent horizontally or vertically next to each tree.

> Tents do not touch each other, not even diagonally.

» The numbers outside the grid indicate the number of tents in that row or column.

Answer key: Enter the maximum continuous non-tent area for each row, from top to bottom. In case of double digit numbers,
enter the right (unit) digit only.

* * *
* *

*\F
5 4 F 7
*F b ki

puzzle Fasayan



Page 4 Object Placement — Episode 8

Tents 4 + 7 points
¥
ik
¥ ik
* ¥
¥ ¥ d
*
* P ¥
% %
¥ ¥
¥ * ¥
* | F
lklka * P
¥ ¥ ¥

% A
® 3
% % %
A %
3 3



Page 5 Object Placement — Episode 8

Battleships 2 + 2 points
» Place the given fleet of ships with the shapes of the ships as shown.

> The numbers outside the grid indicate the number of cells occupied by ships in that row or column.

» Ships cannot touch each other, not even diagonally.

> Some cells are known to be water and are indicated by waves.

Answer key: For each row from top to bottom, enter the column position of first ship segment. Enter *-“ if there are no ships in
the row.

.. ~

=11
ap q

A NMNMNDN W EDN

puzzle Fasayan



Page 6

Battleships

Refer to previous page for rules and answer keys.

puzzle Fasayan

Object Placement — Episode 8

3

N NN TN

N NN WD

N P RN

3 + 6 points



Page 7 Object Placement — Episode 8

Tetromino 5 + 3 points

Place the given set of polyominos in grid.

Polyominos do not touch each other, even diagonally.

Rotations and reflections are allowed.

Polyominos cannot be placed in shaded cells.

The numbers outside the grid indicate the number of cells occupied by polyominos in that row or column.

VVVYY

Answer key: Enter the letters corresponding to first two polyominos seen from the marked directions. (- if not enough
polyominos)

o 2
% T|T|T] N
L > 4

1 q
1
BE 0[0 > 3
s|s| |o]o 5

5 30 3 4 1 4

- E
0 > 3
L [T[T][T] )og 3
LIL| T 5
1 <
!sg 0|0 > 6

3 2 2 41 4 4

puzzle Fasayan



Page 8 Object Placement — Episode 8

Pentomino 7 + 15 points

Refer to previous page for rules and answer keys.

?|IIIII

FIF[F

F T||| V V \:4
LIL[L]L

W > 8

N 4

N[N| [P[P]|P]

IN|] [P]P 2
U 6

4

U

c|c|C

V|V]|V]

V] 2

V] 2

|Y||V ’

XIx[x] [Y[y

X ¥ » 4

Al 6 6 2 3 4 16 2 8

?| I[T[I[I]1 \"4 vV V

FIF[F

F| L] > 7

o LILIL L] 6

N

N | 3

NIN] [P[P]P

N [P[P » 3

IT|[T|T] [U]U U

T U 4

T [Uu 4

V|V]|V]

V] W[ W] 7

V) W[W 3

W

|X | | v >

XIx[x] [Y[y

x| Y] 8
Zl [y

Zlzlz| >

Z) 9 3 8 3 2 3 5 1 6 3 10
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Page 9 Object Placement — Episode 8

Minesweeper Instructionsless 8 points

2 2 2 @2 @

2 5 ® 2

1|2 A 112 0@

4 M O @ 4

4 P 4@

ARE t ;03| ee

00

Answer key: Enter the number of mines for each row, from top to bottom.

1 1 2 2
2 1
4
2 2
4 2
1 1 2
3 1 2
3 2
3 2
2
2 2
2 3 2

puzzle Fasayan



Page 10 Object Placement — Episode 8

Tents Instructionsless 13 points

#* ) rl

% AN E @%-I 3
il X N
3 ’ . 3
il P *
%* L
£z F i ____mlE
1 3 1 1 3 1

Answer key: Enter the maximum continuous non-tent area for each row, from top to bottom. In
case of double digit numbers, enter the right (unit) digit only.

6
®O1F O F IR F P
0l 6
2
¥ ¥ *| |4
3
%® 5
® | F ¥ 1
% % 6
W E
® % 4
6 5 3 4146 2 2 6
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SOLUTIONS

Numberlink 1 Numberlink 2 Numberlink 3
2 2 3 2
5 3
1 5 4 1 4 3
1 2 4 6
2 5
6
Numberlink 4 Star Battle 1
2
*
3 4 ‘k ‘k
4 3 e
? | %k
*
* &
*
2T x| &
5 1
Star Battle 2 Star Battle 3
*| & *
| |k ¥ *
* * *
) * | |&
¥ * * *
X *® X
* * * *
X ¥ *
* * * *
Famaygah Classics




SOLUTIONS

Star Battle 4

Slitherlink 1

313[3]3]2 3

Slitherlink 3

Slitherlink 2

@
&

3123 2 2]2 2

Hitori 1

Slitherlink 4

W=
== o [l < |
L0 <M | O
oo [~ [ -
R
oo ol =]~

[ ]

—|m N M
® [ ]

- M AN ™M
[ ] ®

Classics



SOLUTIONS

Hitori 3

Hitori 2

1]

TEE BERE

7 62|43 @ >

B2 718 6 ¢

543 @ |27

1B 26|78 s B
Bz 2@ 5| 7|1]2
5

415161112

| (A (N (R

12| 3|5 [l 4
4B 2B 167

714628 5 Bl

3

Hitori Blocks

Hitori 4

2 W 6|23 @571

11517 M 2 M« |8 < Bl
al1|s | ¢ B 2 |H s Bl

EHE:H: a8 3

ol3|al2|8|6|7]1]5]HNl

ez 7 o 2@BB :| 3

8914!!6237

al2|c@s|7 B 3|2 BN
ol | 2| 1|7 8@ s
B c o1 28723

2o 3|7 5|6 @ 4
Sl 2|c 83|20 s|o

B |1z s[5 6|7

s B o823

Classics

puzzle Fasayan



SOLUTIONS

Four Winds 1 Four Winds 2 Four Winds 3
T 2— | [+ ——=+ T T T
3 DI —— ,
s | o | s 3|
| ] 5 a2 | ) -
NEEENEN 2 ] :
3 ki B BEd I P 6
2 = B 3
3 3
Four Winds 4 Walls
| } 33— | +— | 1 31113 — 1
|+ |1 1 I 2 |
[ 11] |+ |2 1 i ) 1 -
32— 1 1,1 3 - 2 |1
2 1 2 1 |3 3 1]
(3 |t 1, +— 4 B 5 3
(1] 1 1 —2 2 | N 4 1
EINNNEE ! ANEEE 1 s 2
1 2| —
3 1 e

puzzle Fasayan Classics



Page 1 Numbers - Episode 2

Kakuro

> Fill in the white cells in the grid with digits from 1 to 9.

» The sum of digits in each horizontal / vertical group of cells is given on its left/top.
> Digits do not repeat within any set of consecutive white cells.

Ignore the circles while solving. They are used for answer key purposes only.

Answer key: Some columns have one circled cell. Enter the symbols in the circles from left to right.




Numbers - Episode 2

Page 2

Kakuro

> See previous page for rules.

Answer key: Some columns have one circled cell. Enter the symbols in the circles from left to right.

} }

puzzle Famayan



Page 3 Numbers - Episode 2

Magic Snail

> Fill in the snalil like grid such that each row and column has some re-arrangement of all the letters of the given
key.

» Some cells will remain blank.

» While reading the letters from outside towards the center, the order of the letters is to be same as the key. [E.g.
in the example it should read as A-B-C-A-B-C...]

Ignore the circles while solving; they are used for answer key purposes.

Answer key: Some columns have one circled cell. Enter the symbols in the circles from left to right.

Magic Snail -1 ( 2 points ) Magic Snail - 2 ( 5 points)

» A B C
0y B
B|IX) |cC A

X) cla] |B
A
C

SICSICV OV

Magic Snail - 3 ( 3 points ) Magic Snail - (Béo oints )

ABC » oA @ B|C

» Al lclB B/C|O|A
(X)| B AlC B|C A
C Bl |(& A C B|B

BIC|A C B|B|A)

(A |[C|B A C B
XAO®® 32 B|A O

@@@
Fasayan



Page 4 Numbers - Episode 2

Kropki

> Fill in the grid with digits 1 — N where N is the size of the grid so that each row and column contains each digit
exactly once.

> If two consecutive digits appear in two neighboring cells, they are separated by white dot.

> If digit in a cell is half of digit in the neighboring cell, then they are marked by black dot.

» The dot between 1 and 2 can either be white or be black.

Answer key: Enter the digits in the marked rows.

Kropki-1 (1 points ) Kropki— 2 ( 4 points )
4530201 P25 31114
HYIESE ey

e o= 3049251
1020304 O O—— -
pl5laTais 1|3 5y4¢2
I Plas201(3]5

Kropki -3 ( 7 points ) Kropki -4 ( 3 points )
3|5/2|6(4]1 29416(1]5|3
1(3|5|2]|6]4 1(5(26403¢6

O—1T0OT1@ (O

5(2|6(4|1]3 1302|506(1 4]
2164|135 6|1|(3026405
Ple|4]1[3]|5]2 }_ZOHD%lSOGCZ)_
Plal1|3|5|2]6 Pl506 4030201

puzzle Fasayan



Page 5 Numbers - Episode 2

Skyscrapers

> Fill in the grid with digits 1 — N where N is the size of the grid so that each row and column contains each digit
exactly once.

» Each number inside the grid represents the height of a building.

> The clues outside of the grid indicate how many buildings can be seen when looking from that direction.

» Taller buildings block the view of smaller buildings.

Ignore the circles while solving. They are used for answer key purposes only.

Answer key: Some columns have one circled cell. Enter the symbols in the circles from left to right.

Skyscrapers — 1 ( 2 points ) Skyscrapers — 2 ( 6 points )
4 3 4 5
1j]6 /54 3 2|1
4512 3
2
4113 124 |5 @ ° 1> @ 3| 2
2435® 3112|654 3|4
41212)3 4 6|52
3)2/5 1|4
34/(1)2/5 6|1
5/1/4 3 2|4
7 513 2/6(1)4]2
@ @@ 2 3 3
OIEVENIENIEY
Skyscrapers — 3 ( 6 points ) Skyscrapers — 4 ( 7 points )
2 6 2 3 2 3
3 2|6 14 3 52 7
3[372124 5 3(112 7 53) 6 (4)3
45 3|(1) 2|3 4021367 14 5)2
3(1) 3 25 4 413145272 6|2
312 4 5 3 ()3 414 53|16 7 22
511 4|2 3]3 25)7 12643 1|5
3 3 716,14 2|5 3|4
@ @@@ 2 6 3 4 2 3
ORROIOIENENCY



Page 6 Numbers - Episode 2

Easy As ABC [ Numbers]

> Fill in the grid with letters from the given range so that each row and column contains each letter exactly once.

» Each row and column contains one blank cell.

> The clues outside the grid in the form Xy, indicate that X is the N letter seen in that row or column, in the
corresponding direction.

Ignore the circles while solving. They are used for answer key purposes only.

Answer key: Some columns have one circled cell. Enter the symbols in the circles from left to right. Enter X for blank cells

Easy As ABC -1 ( 2 points) Easy As ABC - 2 ( 4 points)
ARID ARIE
A B C2 C2 B2 D2
oAB)D| BO®
! B.JA B|E C D
BB | A ¢|D C> E/IC D B|A
Gilc B (D) A|A ETAlB 5 clb,
C/A|D|B[B DI C/A B E B>
DCBAEQ C DI E| A BJ|A:
! ! D A2 A2 B2 Ex2 G2
Easy As ABC - 3 ( 3 points) Easy As ABC - 4 ( 7 points)
ARIF
ARID As Bz C3 C3 Bs D3 D3
Al Ds{B F|D E(C |AlE
B D A C Bs|E) D | B A F (Ol
A ()©D B |as A C F B|E|D
B/ C A D |B4 B/A/C E D F
CD B | A|Cs D|A B/ F|C|E
clola Bl c Fs|]C/E F A DB |A
Bs Da A Es]F (O E|D A | B |Ds

®©@ D: As As Bs Es Cs Fs
®© ©®©

puzzle Fasayan



Page 7

Numbers - Episode 2

KropKuro

12 points

> Apply Kakuro rules.
> If two consecutive digits appear in two

neighboring cells, they are separated by
white dot.

> If digit in a cell is half of digit in the
neighboring cell, then they are marked by
black dot.

» The dot between 1 and 2 can either be
white or be black.

Ignore the circles while solving. They are
used for answer key purposes only.

Answer key: Some columns have one circled
cell. Enter the symbols in the circles from left to
right.

UT N R0 O0WON | O | Dy

1
4
7
9

=

1
3
5
2
4

ABC Skyscrapers

>

Fill in the grid with letters A, B, C and digits 1, 2, 3 so

that each row and column contains different symbols.

(The first example uses A, B, 1, 2)

Each number inside the grid represents the height of
a building.

The number clues outside of the grid indicate how
many buildings can be seen when looking from that
direction.

Taller buildings block the view of smaller buildings,
but letters do not affect visibility.

Letters outside the grid indicate the first seen letters
from the corresponding direction.

Ignore the circles while solving. They are used for
answer key purposes only.

Answer key: Some columns have one circled cell. Enter the
symbols in the circles from left to right.

W N R WN R
@NWNGH@UUD
CD S| FERE S UJCDTQ Ao

- End of Test -

puzzle Fasayan




Evergreens - Episode 3

Hashi 3+4+5+7 points

» Connect each of the numbered islands in the grid via horizontal and vertical bridges.

> Bridges are not allowed to cross each other.

» Each numbered island has that many bridges leading away from it, and at most two bridges are allowed to
connect a pair of islands.

> There must be a sequence of bridges that links one given island to any other.

Answer key: Enter contents of marked row/column (use 0 for no bridge, 1 for 1 bridge and 2 for 2 bridges)

Hashi -

1 ( 3 points)

Hashi -

D @

Use the "No islands" rule throughout the grid

Hashi- 3 ( 5 points ) Hashi -

| 46Y

9

Interaction of two 5°s near the center

Masyu like chain which goes from top left to bottom
right

2 (4 points)

O

@
34

— |
|
w0

4 (7 points)

2—a—-a=2 2=3 @
3) ?—@
%i? 5——3 @
@—a=5-4—=3 2
9 6———9
| D 9 43
P2 @=3 @=3—2~2

Interaction of the 4 and the 5's at the center. This

2

3=3

one was my personal favorite for the entire set

puzzle Fasayan



Page 2 Evergreens — Episode 3

Magnets 2 + 3 points

> The grid is made up of magnetic and non-magnetic plates.

» Each magnetic plate has 2 halves: one positive (+) and one negative (-).

» Halves with the same polarity cannot touch each other vertically or horizontally.

» The digits outside the grid indicate the number of magnetic halves with a particular polarity in each row/column.

Answer key: Enter the contents of marked rows/columns (use + for positive plate - for negative plate and X for non-magnetic
plate)

}+

Magnets - 1 +

(2 points ) b

[
+
=

+
]
+

=Y
+
+

NTFRININDNE

5y
5y

+
[
+
B H .
+ | Rr|INMINVW(R|R

NN+
N
(o]
N
N

w N

+ 23

+ + + +14 ]2

+ + 24

Magnets -2 + +12 |2

( 3 points) + + + 319

+ 14

P+ + + 3|2

+ + + 313
1/4/3(2(3|2|3|2|+

3123|3122 |3|2

Existence of half the grid size (8/2 =4) in one of the polarities forces a few bars to be magnets

puzzle Fasayan



Page 3

Evergreens — Episode 3

Magnets

8 + 9 points

Refer to previous page for instructions

Answer key: Enter the contents of marked rows/columns (use + for positive plate - for negative plate and X for non-magnetic

plate)

Magnets - 3

( 8 points )

Magnets - 4

(9 points)

v

- - + 312

+ -+ + 3|3

- + + + B|4]4

- + + +14 |4

- -+ + 33

- - + +14 |4

+ + + +|E]4|3

- +12]4

- - 23

+ + +[3]2
3(2(4(2(4(2(4|3(4(4|+

312|14(2|3/2(4|4 |44

v

Bl +|B +|B|+|]|3]4
+ | Bl +[BI+]3]2
B+ |2 23
Rl + | B BI{+|B +]|3|4
+ B+ PI12|2
+ B+ | B+ +14 |3
+ Pl +|B |+ ][ 313

- Bl + | + 312

Bl +|B|+]2|3
Pl + + B + +|B]4]3
2(3(3(3(2(2(4|3(3(4|+
312341233333

Transfer of polarities across rows

puzzle Fasayan

Min max - A less loaded column surrounded by two heavily loaded columns.



Page 4 Evergreens — Episode 3

Arrows 3+3+5+6 points

> Draw arrows in the cells around the large grid, one arrow per cell.
» Each arrow points to at least one number.
» The numbers show the total number of arrows pointing towards them.

Answer key: Enter the number of horizontal arrows, followed by the number of vertical arrows

Arrows — 1 ( 3 points) Arrows - 2 ( 3 points )
VSN VR IVE I
NIRRT
N|210(4(0 3 |¢
—=>1214|4 |2\~
—15 51«
2710133 |31|¢
—| 4 7 |«
N 2113147
—1 3 3|5
21213 (23|~
FIENEIE =14 3|53 (5]«
T 77 T
Arrows — 3 ( 5 points ) Arrows — 4 ( 6 points )
VIN[L|N| URRNYIN)
N 3121412 14« =312 |4|V
713 2 3|8 N 3103 |N
—=>12143|2 3| =513 2N
|3 3|« TININ
—>1314 (4|44«
21T 1T1 72N
3in the center gives good starting point Interaction of two large numbers in the corners (4

and 5) along with the smaller numbers int he
remaining two corners (2 and 3)

puzzle Fasayan



Page 5 Evergreens - Episode 3

Anglers 2+2+2+5 points
» The grid represents a lake and the numbers on the periphery represent anglers (fishermen).

» The fishes shown in the lake are such that every angler gets exactly one fish.

» The numbers indicate the length of the fishlines which are composed of horizontal and vertical line segments.

>

Draw the fishlines starting from grid border such that no two of them cross or overlap each other.
Answer key: Enter the number of turns in marked rows/columns.
Anglers - 1 ( 2 points) Anglers — 2 ( 2 points )

9 10 5
]

» | I 9
21} — 9| | » 21

®

4

| e *
Y 11 9|9 | 16
]

| |1
[ ]

4 7
Parity - Only one angler can reach the fish on
bottom left as it has different parity compared to all

w
(92

other fish
Anglers - 3 ( 2 points) Anglers — 4 ( 5 points)
\ 4 \'4 9
1410 5 7 1018 9~

| | &<

I
b3
|
3

¥ |
> Y% Y
| | -1°
9 9 9

Reach ability of top left fish to an angler

puzzle Fasayan
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Evergreens - Episode 3

Multi-Anglers

6 points

> Apply rules of Anglers.
» However, multiple anglers can get the same fish.
> Each fish is captured by at least one angler

Answer key: Enter the number of turns in marked rows/columns.

v

5 7 4 10

* ] ]

— 9

6 12 12 7

Count of wuiar nurmwver vr arngrer s anu now ariy angrer s cari reacr each fish.

puzzle Fasayan
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Page 7 Evergreens — Episode 3

Dominos 3 + 3 + 8 points

» The grid contains a set of dominos, using all combinations of zero through N.
» The layout is shown with domino edges removed.
» Reconstruct the missing edges.

Answer key: Enter the contents of marked rows/columns (use H for horizontal domino and V for vertical domino)

Dominos — 1 ( 3 points)

@ o1 1/[2 3
o 1/(1 2|[2 4
2|11 3|3 3]
o 3/(1 4/[3 4
o 42 2||4 4

\A4

RIN RINMNDN

OlRI|IRLRIO®O ©®
wlwlbh|lr]|e®
I I SR Y I )

rwld ofn
Dlwlw of|w
)

Dominos — 1 ( 3 points )

w
a
(o)}
=
(W)
N

@ o/[1 1/[2 3/[3 6
o 1| (1 2|2 4] |4 4
@ 2|1 3|2 5|4 5]
3/ (1 4|2 6|4 6
@ 4/|1 5|3 3/|5 5]
o 5|1 6|3 4|5 6
o 6|2 2|3 5/|6 6

O RrlUlu Wlw MM R

MiIN|IRFRIN Ml VIO A

vl oo|ld ool O

vijlun oojlw wloyn wlwln
)

Dominos - 3 ( 8 points )

@ o1 1/[2 3|[3 6]
o 1/(1 2/[2 4||4 4
o 2|1 3/[2 5/[|4 5]
o 3/(1 4/[2 6|4 6]
o 41 5/(3 3|[5 5]
@ 5/(1 6/(3 4|[5 6]
o 6/(2 2/[3 5/|6 6]

FQUNG) FEFTIRG [FIN

NN UTTOY O
Ajwlh LIjun LN
RriIbRINdD MN]IOIDN

v oo|lwlwlrlw aole
vl pv]lelprlw &

Wi |l Ol ©
w ok njfunjoy -

3

puzzle Fasayan




Page 8 Evergreens — Episode 3
Dominos 6 points
» The grid contains a set of dominos, using all combinations of zero through N.
» The layout is shown with domino edges removed.
» Reconstruct the missing edges.
Answer key: Enter the contents of marked rows/columns (use H for horizontal domino and V for vertical domino)
Dominos — 4 ( 6 points )
0|l1 43|12 0|6 5|7 1|24 7|1 3
@ o/[1 2][2 5[4 4][6 7
111161118 olel7lele6 @ 2/[1 42 7][4 6][7 7]
@ 3/[1 512 8][4 7][7 8§
5|7 ©0]8]3 3{112]2]7 @ 4/[1 6/[3 3][4 8/[8 8§
413|6 0|3 311 1|5]7 e 5|1 73 45 5
0 6/[1 83 5[5 6
4le|l6 2|3 5|88 3|7 e 712 213 6[5 7
als]s|2]7 s|le[s 68| l&lz3B7b s
1 1/[2 43 8|6 6
0|l0|8|2]|5 4|12 1|2 3|7|5 5|8 8
Missing Dominos 5 points

> Apply rules of Dominos.

> A few dominos from the set will be missing in the grid. It is part of the solving process to identify the missing
dominos and recreate the rest within the grid.

Answer key: Enter the contents of marked rows/columns (use H for horizontal domino and V for vertical domino)

puzzle Fasayan

olo 4

© 0/|1 12 3|3 #
4 3|3|5 4|4 4

o 111 2|2 4|4 4
212 o113 3|1

o 2|1 3/|2 5|4 5
212 65|66 1|1

@ 3/|1 4 |2 6/|4 6
9 o0|l6 6|52 1

@ 4/]1 5|3 3/|5 5
3l4le 5]3]|5]6

© 5/ |1 6/|3 4|5 6
6|l6|1]6 5]|5]|0

@ 6/2 2/|3 5|6 6
1 3[4]l4 2|1 o

End of Test
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Regions

Page

1+2+4+7points

Yin Yang

in each empty cell.

cing either a black or a white circ

of black and white by pla

> Divide the grid into two regions

ntally.

horizo

tically or

ch other, ver

onnected to ea

of same color

> No 2X2 group of cells can co

> All circ

white and black circle blocks - from left to right / top

ch marked row/column, enter the length of continuous

Answer Key: For ea
to bottom.

I

gresn
. CeCeeee | @€0CC0C0000)
S po00e00e - 0000000000
. Fecee e : 0000000000
e eeisel MR S ses Jse
LOCOSE, 0000 000
OOMOOOOOQ
900000 0
0000000 0Oe000e
. 0000008 : eecl e e
: 0000000 : 00000000
= »0000000 ¢ (00000800
! 0000000 :>00000000
: 0000000 : @000ee e
000000 o oo Jole
A ecescee




Page 2

Spiral Galaxies

Regions - Episode 4

2+4+6+ 10 points

> Divide the grid into 180 degree symmetrical regions along the gridlines, so that each cell is part of only one

region.

> Each region must contain exactly one circle, which represents the central symmetry point of the region. All
circles are given.
> All cells must be part of a region.

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to

bottom.

Spiral Galaxies - 1 (2 points)

...........

T
1
'
1
'
...............................
1 1 1
1 1
' '
' ' '
| |
................
1 1
1 1
° e
1 1 1
' ' '
.......... Locoon
T
' '
1 ‘. 1 1
1 1
1 1
- ORI IS D
T
1
L | '
1

Spiral Galaxies — 2 (4 points)

Spiral Galaxies - 3 (6 points)

v:

Spiral Galaxies - 4 (10 points)

o

Ivl Ivl

-----------

............

e
) ®
)
...... _.._ ' USRI IR
® )
...... E .""- e o .....-.__. .
P o o
............ i ...' .
= ) )
® § ®
)
@ @ 3 — Poooes
®




Page 3 Regions - Episode 4

Fillomino 2+2+5+5 points
> Divide the grid into different regions along the gridlines.

» No two regions of the same size (number of cells in the region) can touch each other by a side.

> Numbers in the grid indicate that the cell is part of a region of that size (number of cells in the region).

> A region can contain more than one given number.

» There can be regions without any given numbers also.

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to
bottom.

Fillomino - 1 (2 points) Fillomino - 2 (2 points)
. 4 v
888 8:8:8|4 313|14114114:14:14
882 2[1[4 4 1513]7 7[5 5|14
6 6|4:4:4|3]|4 5:5|8|7|5:5|14
Pl6|7 7 7]4]3 3 6]|5]|8]|7]|1]5 14
6[loiol7:7 7 7 Ple|s|8|7.7: 7|14
(6]5|9 9 9 99 6|8 8 8 8 8|14
6[|5/5:5:5|9:9 6 6 6|14114:114:14
Fillomino - 3 (5 points) Fillomino - 4 (5 points)
vV Vv \'4 \ 4
. 8:8:8|7|5]|7|5]|3:3:3
7.7 7|2]|6|2]|6:6:6 T Bk et SOt S Bt —
------------------------------------ 8 8:8|7|5]17|5:!5!5:!5
7 2 7 2 6 2 6 2 6 "'"J, """"""""""" ' ' ' '
---------------- 1\8:8|7|\5|\7:7:7:7:7
71217]l6:6:6|1]2]|6 — | —
. —-- . 7:7:7:7|5!5|11i11i111111
5:512:2|6fl2:2]1]4 — T e
----- — — P|l5 5:5i5|7|11111|6i6 6
5([3:3:3|5:5:5|4:4 o Tt S —
----- | — e — 3:3:3|5(7:7|111]6|7:7
5:512:2|5[2:2]1]4 —
----- 7.7 771471111671
6l23|1]5]1]3]|2]5 T it o SUREY (S DR SN B
---------------- | 6 6|7|3|4]|7|11|l6]|7]|4
Plel23:3|1]|3:3|2]|5| | |-+t tA="1H=1
----- — 6 6|7|3|4|7|111|l7: 7|4
6 6 6 6|/2:2|5:5:5 | }t-i—tA-t-1=tAr—
6 6|7|3|4]|712|7]|4:4




Page 4 Regions - Episode 4

Area Division 1+1+4+8points

> Divide the grid into several regions along the gridlines.
» Each region has ALL the letters of the given range exactly once.
> Each letter must be part of exactly one region.

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to
bottom.

Area Division - 1 (1 point) Area Division - 2 (1 point)
j .v. j v.
c aAlcia B]c cialals ala
clolo[aic|Dp clelsiclc|c
B|B[p B[A B AB[BiAa C|B
plals a clals P{afs c a[aiB
plo[e]siD|A B clcis[B]c
piAcl|c[pic B A clalaic
(Range: ABCD) (Range: ABC)
Area Division — 3 (4 points) Area Division — 4 (8 points)
1 T .v | H H H ' v. i i
E[Ficg E[F E[EF[F F G E|EG F[EFHG
F G|F[F|e[F]a[F]G H[H EF G|H[F H][H E
plF elc|lc ElE c|E|E G FI[F H E[EH]E G|F
G[Flelc F E[e]G|E plH[c H[F|lc|c F[F G|a
Fleielcg FlciF[F|F e|lF[H]lc i E H][EIH[F H
elc e Fle|G]|E |G GleE|lelc HiEF[E G|E
G|l E FIF E[E G|E PlF H|F G| E H F[H]|H
E G F|G F|G|F[E|F e[H|lFic H]clc FiE|G
E F G|E[E F[F G|a E F|Gg H|E|F E H[E]F
Range: EFG) G[FiE[ElH G F]G FIH
(Range: EFGH)

Famaygan



Page 5 Regions - Episode 4

Shikaku

> Divide the grid into a number of non-overlapping rectangles, including squares, along the grid lines.
> Numbers in the grid indicate the size (number of cells) of the rectangle they are in.
» Each rectangle must contain exactly one given number.

1+1+ 3+ 10 points

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to
bottom.

Shikaku - 1 (1 point) Shikaku - 2 (1 point)

A4
6 2] | 2] ]
4] 2| 0
s 1 3] | L] 2
» 14 |20 | | [l 4l |
2 0 5 | 3 o I
al 2] 2] Pl 4 21
"""""" i | H 3
. . Shikaku - 4 (10 points)
Shikaku - 3 (3 points)

_ V 61 I 1 1 | 4

4 2 — —
""""" 4 al | 6 B T .
_______ ABER 51 6 | kAl
af 12027 {21 | 14| || e >
EEncEnrids — 1"
b1 =10
SN 4 [a . — |
"""" 2 A 3 5 4
""" 3 2 2 8 - >
7 6




Page 6

No-Rectangles Fillomino

> Apply rules of Fillomino.

> However, none of the regions can form a rectangle.

Regions - Episode 4

7 points

Answer Key: For each marked row/column, write the number of cells that belong to different regions - from left to right / top to

bottom.

No-Rectangles Fillomino (7 points)

v

A4

3|4:4:4|6|4:4:4|3 3
3:3]|aleie|s]als]|3]a
4l6:6 63|55 5[4 4
aials[3 377 7]al7
4|3|sisis]eie|l7i7i7
3 3|s[6[3]l6 6 6[a 4
6 6 6 63 3|6|5 5|4
3:3|6[sis|aiaials|a
3]|al3 3]s s|ale|5 5
44 4al3|s|lei6 666




Page 7 Regions - Episode 4

Spiral Galaxies 4/5 14 points

> Divide the grid into several regions along the gridlines such that each region has exactly 4 or 5 cells.
» Each region must be 180 degree symmetrical.

> If aregion contains a black circle, then it is the point of symmetry.

» Regions may not be 2x2 squares.

Answer Key: For each marked row/column, write the number of cells that belong to different regions from left to right / top to
bottom. Ignore the black cells for the answer key.

Spiral Galaxies 4/5 (14 points)

ol 1

End of Test



Page 1 Snakes - Episode §

Snake 1+ 2+ 3 points

> Locate a snake (a 1 cell-wide single continuous path) in the grid whose head and tail are given.
» The snake does not touch itself, even diagonally.
» Numbers outside the grid indicate the number of snake cells in that row/column.

Answer key:

V3V 3

w w w w w

puzzle Fasayan



Page 2 Snakes - Episode §

Snake 7 points

Refer to previous page for rules.

3 2wW3w1l 7 1

Horse Snake 2 + 5 points
» Apply Standard Snake rules.

» The numbers inside the grid indicate the number of snake parts in the knight step from the clue indicated.

» The clue “?” can be replaced by a number greater than zero.

» The cells with cross cannot be a part of the snake

Answer key:




Page 3 Snakes - Episode §

Horse Snake 6 + 10 points

Refer to previous page for rules.




Page 4 Snakes - Episode §

Summed Snake 3 +4 + 6 points

Locate a snake (a 1 cell-wide single continuous path) in the grid whose head and tail are given.
The snake does not touch itself, even diagonally.

Numbers starting 1 are put along the path of the snake.

Numbers outside the grid indicate the sum of all the snake parts in particular row and column.

YV VYV

Answer key:

35 37 19 125 64 112

18

10

12 13 14 15

¥y 20 21 22.26 27 28

17 18 19

27 28 29

Bl -

38 37 36 35 34 33 32 31

puzzle Fasayan



Page 5 Snakes - Episode §

Summed Snake

5 points
Refer to previous page for rules.
156 114
16 17 18
13 14 15 4
24 23 22
31 32 33 34 35 36 37 38
39
Toroidal Snake 4 + 3 points

> Apply Standard Snake rules.
» Additionally, the grid wraps around itself. So the snake can go from one edge to another.

Answer key:

1 3 6 5 1

puzzle Fasayan



Page 6 Snakes - Episode §

Toroidal Snake 6 + 10 points

Refer to previous page for rules.

517 1 3 5 3 2

9532 WV 6471

H

puzzle Fasayan



Page 7 Snakes - Episode §

Graffiti Snake 2+ 1+ 2points

Paint some cells black to create walls.

Numbers outside the grid indicate the lengths of blackened cell blocks in the corresponding directions, in order.
If there is more than one blackened block in a row or column, there must be at least one white cell between the
blocks.

After all black cells are determined; a snake should travel through all the unoccupied cells, moving horizontally
or vertically without touching itself, even diagonally.

The head and the tail of the snake are given in circles.

The clue “?” can be replaced by a number greater than zero.

VV VY VVV

Answer key:

puzzle Fasayan



Page 8 Snakes - Episode §

Graffiti Snake 6 points

RRRR

[V, R
—
(IR

141

321

213

False Graffiti 3 points

> Apply Graffiti Snake rules, except that all clues outside the grid are false.
» They are either 1 less or 1 more than the actual clues
> Note that 1 can become 0 too.

Answer key:

40

22

102

puzzle Fasayan



Page 9 Snakes - Episode §

Multiple Snakes 9 points

» Apply standard Snake rules; however multiple snakes are there in the grid.
» Head and tail of all snakes are given.
> Different snakes cannot touch each other, even diagonally.

Answer key:

v \4
6 8 4 3 6 2 5 9 2 6 211
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v

=
()

End of Test
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Page 1 Shading - Episode 6

Paint By Number 1 + 2 points
» Shade some of the cells to find out the hidden figure.

» The numbers outside the grid indicate the sizes of consecutive shaded blocks in that row/column.

> Numbers are given in the order the blocks appear, first number describes the closest block.

» There must be at least one white cell between any consecutive shaded blocks.

Answer key: Enter the lengths of groups of shaded cells and white cells, for the marked rows/columns.

w
=
=
=
PR R R
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Page 2 Shading - Episode 6

Paint By Number 2 + 6 points

Refer to previous page for rules and answer keys.

1
1 1
1 1 2 1 1
1 1 1 3 1 1
4 7 1 3 1 3 3 3
44121vv12331
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Page 3 Shading - Episode 6

Heyawacky 2+ 3+ 4 points
» Shade some of the cells so that the numbers in region indicates the number of shaded cells in that region.

» Shaded cells cannot be orthogonally adjacent.

» The remaining white area must be connected to each other, horizontally or vertically.

» The white area cannot span across 2 consecutive borders (thick lines).

Answer key: Enter the lengths of groups of shaded cells and white cells, for the marked rows/columns.

YV

> B
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Page 4 Shading - Episode 6

Heyawacky 10 points

Refer to previous page for rules and answer keys.

Windows 1 + 2 points

For each of the marked 2X2 areas (the Windows), shade exactly 2 of the cells.

No 2X2 area can contain all shaded cells or all white cells.

All shaded cells must be connected to each other, vertically or horizontally.

There cannot be an island with white cells i.e. the shaded cells must not enclose any white areas.

YV VYV

Answer key: Enter the lengths of groups of shaded cells and white cells, for the marked rows/columns.

\:4

B
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Page 5 Shading - Episode 6

Windows 6 + 11 points

Refer to previous page for rules and answer keys.

>
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Page 6 Shading - Episode 6

Lakes 1+ 4 + 5 points

> Shade some of the cells so that the grid is divided into white areas.

» Each white area must contain exactly one number and that number must be the size of the white area it is
included in.

> Cells with numbers cannot be shaded.

Answer key: Enter the lengths of groups of shaded cells and white cells, for the marked rows/columns.

puzzle Fasayan



Page 7 Shading - Episode 6

Lakes 6 points

Refer to previous page for rules and answer keys.

Crazy Pavement 1 + 2 points

» Shade all cells of some regions.
> Numbers outside the grid indicate the number of shaded cells in that row/column.

Answer key: Enter the lengths of groups of shaded cells and white cells, for the marked rows/columns.




Page 8 Shading - Episode 6

Crazy Pavement 4 + 9 points

Refer to previous page for rules and answer keys.

L L L R L
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Page 9 Shading - Episode 6

Heyawacky Variation 9 points
E
X
1 A 1

M
P
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%) E 0
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2 1 2 1
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Page 10 Shading - Episode 6

Crazy Pavement Variation 9 points

5 3

MrosSs>XMm

8 9 9 811

End of Test
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Page 11 Loops - Episode 7

Simple Loop 1+2+ 2+ 3 points
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Maxi Loop 1+ 5+ 7 points
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Page 12 Loops - Episode 7

Maxi Loop 16 points
2 21311174 L]
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Page 13 Loops - Episode 7

Railroad Tracks 2+4+5+7 points
: :
3| e |7
6T | |
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1-_
5-_
1|4
1 4
3 5 , !
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|
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7
3 4+
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Linesweeper 2 + 3 points
3 2
5|7
4
6 5
2
5
6 7
2
65
3 3
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Page 14

Loops - Episode 7
Linesweeper 2 + 5 points
4
5
5|2 2|3
7 5
7
3|5
4
3
2 5
2|3 24
7
Masyu Variation 9 points Linesweeper Variation 14 points
Added rule — The number in a circle gives the sum Changed rule — The loop can pass through clue
of length of loop segments on either side of the cells, and the clue number describes the 3x3 area
circle. it is in the middle of (9-cells instead of 8-cells).
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22
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Page 1 Object Placement — Episode 8

Minesweeper ?+?7+7?+7?points

> Place mines into some empty cells in the grid such that the numbers in the grid represent the number of mines
in the 8 neighboring cells, including diagonal ones.

> In some of the puzzles, number of mines to be used will be given.

Answer key: Enter the number of mines for each row, from top to bottom.
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0 300 0 :
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002220 :>2
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4 1/0 3
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Page 2 Object Placement — Episode 8

Akari ?+ 7?7+ ?points

> Place lightbulbs in some of the white cells so that all white cells are illuminated.

» Lightbulbs illuminate all cells they can see horizontally and vertically, including the cell in which it is placed.
> Lightbulbs are blocked by black cells or the edge of the grid.

> No two lightbulbs may illuminate each other.

> Numbers in black cells indicate how many orthogonally adjacent cells contain a lightbulb.

Answer key: Enter the number of light bulbs for each row, from top to bottom.
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Page 3 Object Placement — Episode 8

Akari ? points

Refer to previous page for rules and answer keys.

Tents ? + ? points

> Place one tent horizontally or vertically next to each tree.
> Tents do not touch each other, not even diagonally.
» The numbers outside the grid indicate the number of tents in that row or column.

Answer key: Enter the maximum continuous non-tent area for each row, from top to bottom. In case of double digit numbers,
enter the right (unit) digit only.
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Page 4 Object Placement — Episode 8

Tents 3 + 4 points
Refer to previous page for rules and answer keys.
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Page 5

Battleships

VVYY

Place the given fleet of ships with the shapes of the ships as shown.
The numbers outside the grid indicate the number of cells occupied by ships in that row or column.
Ships cannot touch each other, not even diagonally.

Some cells are known to be water and are indicated by waves.

Object Placement — Episode 8

? + ? points

Answer key: For each row from top to bottom, enter the column position of first ship segment. Enter *-“ if there are no ships in

the row.
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Page 6

Battleships

Refer to previous page for rules and answer keys.

Object Placement — Episode 8

? + ? points
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Page 7 Object Placement — Episode 8

Tetromino ? + ? points

Place the given set of polyominos in grid.

Polyominos do not touch each other, even diagonally.

Rotations and reflections are allowed.

Polyominos cannot be placed in shaded cells.

The numbers outside the grid indicate the number of cells occupied by polyominos in that row or column.

VVVYY

Answer key: Enter the letters corresponding to first two polyominos seen from the marked directions. (- if not enough
polyominos)
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Page 8 Object Placement — Episode 8

Pentomino ? + ? points

Refer to previous page for rules and answer keys.

F [T
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W
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Page 9

Object Placement — Episode 8

? points

Minesweeper Instructionsless
2920 @20
o 2 5 2
12 Q9O A 112 Q9@
® @ 4 M @ @ 4
4@ E 4@
3 @3] @@ E OEIOC
®00 o0
Answer key: Enter the number of mines for each row, from top to bottom.
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Page 10 Object Placement — Episode 8

Tents Instructionsless ? points
RS N
yAvAESNANNE 0 B E |- 3

) X *
8
B 2] |3 A . 3
B M
7 & P %
p * L
— E i
4> Lrpfowd | 3 - | 3
1 3 1 1 3 1

Answer key: Enter the maximum continuous non-tent area for each row, from top to bottom. In
case of double digit numbers, enter the right (unit) digit only.
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End of Test



